1.sorry the first was confusing i didnt waste any time on it

2.there r 2 measures- A AND B . B's capacity is twice that of A.

A has half its capacity wine and B has one-fourth its capacity wine.

A and B are filled up with water for the remaining volume and A & B 's

contents are transferrd to a measure C. wath part of the content in C is

wine.

ans:1/3

3. this was a very easy question

something like this

for a house construction this was the charges

carpenter+mason=$2300

mason+electrician=$5300

etc...

find the individual charges.

very easy one

4.there are'N' stations. each of the stations sell tickets of all other

stations. now some more stations are added.the difference in the no. of

tickets is 46.

1.what is "some"?

2.what were the no. of old stations?

ans:old=11 new=2

5.A's age transposed gives B's age. the difference of their ages is twice

C'age. B's age is 10 times C's age. find their ages.

ans:A=54, B=45, C=4.5

6.a murder has happened. 6 men are involved, judge, witness, policeman,

murderer,victim & hangman.The murder was commited with a gun. but the

witness didnt see the murer but was sure that

he heard the gun.The case came to court and the murderer was found,

convicted, sentenced to death

and was hanged.

1.mark knew both the victim and the murderer.

2. the judge asked clarke to give his version of this murder incident.

3.walt was the last to see fillipe alive

4.policeman said he picked up graham near the murder area.

5.walt and hunt never met each other.

who was who?

ans: pls verify

judge- mark

victim-hunt

hangman-walt

murderer-fillipe

witness-graham

policeman-clarke

7. A women with dollar bills go to the shopping she spent half of the money

she had for shopping as she was so kind she gave one dollar to the beggar.

She went to the hotel and spent half of the remaining and she gave 2 dollars

to the waiter, then she buys some goods with half of the remaining and she

gave 3 dollars to the receptionist. How much money she had in the beginning?

Ans: $42

8.some venn diagram question.

100 people were selected. 10 didnt know both typing and shorthand.75 new

typing,83 knew shorthand and how many knew both. some thing like this.

ans:i am not sure

9. Following are the statements of three of the

participants in a race. One among them is the winner

of the race. One of them is a Sororrean, who always

tells the truth, one of them is a Nororrean, who

always lies, & the third one is Midrorrean, who lies

alternately. You have to find who is Sororrean, who is

Nororrean, & who is Miderorrean.

A: i) C obstructed my way, & hence I lost.

ii) C always tells the truth.

iii) C won the race.

B: i) C is not a Nororrean.

ii) A won the race.

C: i) B won the race.

ii) I didn't obstruct the way of A, because of

which he lost.

ANS.: A:Nororrean, B:Sororrean, C:Midrorrean

10. some thing like the previous question but more confusing
